\\ﬁMQ&er\ Exam  Solutions ‘\ E\ Nov 9\00‘1\

*O 2% [le> {Lo&z-_-to:(&—:aﬁ‘x{,

2 M sef of ol 2e€ st 2b=n s {ealm . ke Z} ;

—

-ﬁ». CDQ .i_>¢ "
of Lot €50 ba Giwn

y—F
to-fe g
2 -0

L@* %C'D (O\ 5\ ’1\!1,\ (WwH’ly;‘aw\j ‘H/\W ‘93 3 - ) See ‘Hr\{f‘
$a-fw) =~ #% H)] > Ha-fo | - e | 1z

ae 2 Clucm P aff(ot o = £ ek af o,

Pich 0< 8 < 2/(44—]{’@\0 ¢+ Dia; HESSL and
(sucf—\ o § exisfe becawse S2 >

0<\2-al ¢ o = 'S open Z< 'r‘ i$ d?‘({(( o a

|2=a| >

Se
£ (21- Py | < V2l [ | 1320 = (4 o)) 134l < (a4 W Gl <c, _

*® Te)i= Loji-a(ﬁﬁi\ (=2 a%n)} Logo i S SRAE g (‘ (2)

Sl — F(1+
~\(3 (2_\)7- Yhe PoX'C‘ ey § ( 7“
) —de Fel)
e eY2 2+ Ki/3 /
1+ l/l / '@1— 'Pg ‘L* e i
w4 iy R e SV RITE 25' .
/—\>o L—H———0 o> %3——)

m(3 5 ,
2 2,03 20=2 23=-422 o=@ 23 wi= Log(z)

= @)

Jee that ({ngﬁzpo }\ {oc-r md ‘ xCIR}

@) z= : :
ﬁ@ Claim (2) = sahshes CRE at onsin , bt
B e
d lgm"r 240 js udt A af erigin
P‘O"F e X .
—" g(x) - 9(0) % %Y Co gx(a)r—“igj[o) & CRE he(d .

X :‘xm‘ XY — s 8 33(0’—" f :
Bt for z=te™ ¥ Ceg ) wt VO

TR PO e 4
3(12) g[ﬂ‘ (tg) - ry - e = "
b Honr® = : lart 1 ’>}33(¢"1 see that -
. : 2|-4lo
geicgelll 2F MR DR o g e T L{i p
N T i i it ! e




